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Integrated Luminosity

● Performance of the LHC!
● Does the higher peak luminosity pay off even 

though the lifetime decreased?
● Integration through TEVATRON approximation fit

● Fit over the whole fill to get parameters
● Integrate the fit function to get an extrapolation of the 

integrated luminosity after given times in SB
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Expected integrated luminosity

● Starting from a (double-)exponential:

● Integrate:

● Split into two single-exponential integrals

● Proportional to L
0
*τ (time-independant)

● Time evolution factor: (1-exp(-t/τ))

L(t)=L0,1exp(−
1
τ1

t)+L0,2 exp(−
1
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t)

Ltot=∫
0

t r
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